H & 0l & AHS B Ml A

A NS
HH: (ZLE SN
ol 2+2H HEXH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
wSHF 32,121,549 23,543,274 8,578,275
= 794,610
[ 250,000
= 3,479,676
Al 27,597,263
Bsws SgX 22,056,869 13,479,324 8,577,545
= 794,610
[ 250,000
= 3,479,676
Al 17,532,583
M HEXA 9,944,662 8,032,601 1,912,061
= 85,000
= 250,000
= 568,081
Al 9,041,581
s= % A HEXE 2,955,300 3,270,408 A315,108
201 fer= 3| 29,700 14,408 15,292
01 At 2|l 29,700 2,000 27,700
OAILIH A =8 A
50,0003 *707H 2 3,500
OuES=20t 822 M 2,000,000& 2,000
OIS (B AHA) X
880,000 *10CH 2 17,600
OusSetd ZH el 6,600,000 6,600
202 04| 1,000 1,000
01 =LHOLI 1,000 1,000
O0A (a2 )tSA2AY =3 0f]
500,000 500
OdEZd gRE 500,000 500
203 =] 4,600 5,000 2400
03 A= PR FA| 4,600 5,000 A400
OuSHI N AMBFAHIRFAY|
4,600,000 4,600
307 212+01& 2,920,000 3,250,000 A330,000
9 2=HAHEXS 2,920,000 3,250,000 A.330,000
O2+gH FIEX 2,200,000,000& 2,200,000
OAUHA Bl d HEXIE
720,000,000& 720,000
AUHA THEXR (RHHSEZ) 50,000 17,000 33,000
207 ARl 50,000 17,000 33,000
01 S| 50,000 17,000 33,000
OSFEA AlUHA =& JHE 632 89
50,000,000 50,000
AU A HE X2 (RHXSH RS S) 395,576 564,152 168,576




A nSHEL
HH: (ZLE SN
Cel: 2+2H HEXH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOl 395,576 564,152 168,576
07 AX R FE= 395,576 564,152 168,576
Onglol - #AE st K
52,681,000& 52,681
OAILIHA 258 MEMNA
205,956,002 205,956
OAILIEHA 2B 2 L MbIA HEX
! 54,229,000 54,229
OZBJIE HA 2SAHL &d Al
13,000,000 13,000
OAlW & OlsHA HAHQs80 X3
49,710,000 49,710
AMUHA S322H 28 A 3,721,516 1,491,329 2,230,187
308 XXM SOIA 3,721,516 1,491,329 2,230,187
07 AX 2L FE= 3,721,516 1,491,329 2,230,187
OEF2 AlUiHA s322H 28 X
3,721,516,000& 3,721,516
& =SgM 2SHA X2 295,000 295,000
308 AXIMSOIA 295,000 295,000
07 HXHH2LREES 295,000 295,000
OG0018! ZAHA(MERR-ESA) RS
295,000,000& 295,000
Il 22018 HA 28 X 159,000 200,000 241,000
[ 47,700
Al 111,300
307 glztol & 159,000 200,000 241,000
= 47,700
Al 111,300
09 2s-gAE2LES 159,000 200,000 241,000
OZJ| Z2liIgHA =28 XNH
159,000,000 159,000
= 47,700
Al 111,300
MattA XI& 170,000 460,000 290,000
= 85,000
= 12,750
Al 72,250
307 @I2t01 & 170,000 460,000 290,000
= 85,000
= 12,750
Al 72,250
09 2+ AHAELS 170,000 460,000 290,000
OXNaA 2 XA (20)
170,000,000 170,000
= 85,000




SH: DEHF
3 Hsus s8N
Cel: 2+2H HEXH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 12,750
Al 72,250
SEHA K 299,490 307,000 A7,510
= 89,847
Al 209,643
307 gl2to| & 299,490 307,000 7,510
=S 89,847
Al 209,643
09 2FHHEXS 299,490 307,000 A7,510
0% BEHA 29 24 X8
299,490,000 299,490
< 89,847
Al 209,643
BYHA X (XA 400,000 325,000 75,000
307 elztol & 400,000 325,000 75,000
QB 2=gHEXS 400,000 325,000 75,000
OAl SEHA 29 &4 T
400,000,000 400,000
SEE HA K& 245,700 343,000 /97,300
== 73,710
Al 171,990
307 212+01& 245,700 343,000 A97,300
< 73,710
Al 171,990
09 2s-AE2LES 245,700 343,000 297,300
OUSAANS HEE HA NA
245,700,000 245,700
= 73,710
Al 171,990
CAIE WERE 29 500,000 440,000 60,000
[ 250,000
Al 250,000
307 212+01& 500,000 440,000 60,000
= 250,000
Al 250,000
09 2+EAE2LS 500,000 440,000 60,000
OZANE 1ES22 (338 bli2) 29
500,000,000& 500,000
= 250,000
Al 250,000
AMUHA 23 240IIH0I S4H| X3 12,857 12,857
201 fer= 3| 12,857 12,857
02 S3=gHl 12,857 12,857




SH: DEHF
3 Hsus s8N
&el: 2+2Hd HEXE (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OALIBA 22 20IT0l SAEl K (2
OH&) 12,857,000& 12,857
HOIEHAl 2SS AAF XIS 436,080 350,400 85,680
S 252,000
Al 184,080
301 Eet2 NS 427,680 350,400 77,280
== 249,480
Al 178,200
14 JIEt2 8= 427,680 350,400 77,280
OHYLIEAl 2FSAHL XA
120,000 x297 E+ 12 427,680
= 249,480
Al 178,200
307 el2to| & 8,400 0 8,400
S 2,520
Al 5,880
08 OIXt2d= 8,400 0 8,400
OZLEEAl FIIRALD 25X S OIXHE
&= 8,400,000 8,400
& 2,520
Al 5,880
BAIDIESEZD] SeE X 11,083 11,405 A322
= 4,1%
Al 6,927
307 elzto| & 11,083 11,405 A322
= 4,1%
Al 6,927
02 QA HAIEE X 11,083 11,405 A322
OHAPIEEZ)| Sala X3 (5260H)
11,083,000& 11,083
< 4,1%
Al 6,927
BAPDIEZMN =22 K& 293,060 208,907 84,153
= 87,918
Al 205,142
307 elztol & 293,060 208,907 84,153
= 87,918
Al 205,142
02 QIZtEHAEE X 293,060 208,907 84,153
OHIAl SIEZ M ==& X (5260H)
293,060,000 293,060
== 87,918
Al 205,142
wssd A 11,410,749 4,733,137 6,677,612




SH: DEXZ
M Esus =4
o2l wESstE NS AR (SH9 H2)
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
= 704,000
= 2,905,050
Al 7,801,699
HWSAEE RAE= 542,324 467,660 74,664
201 Ler2 | 542,324 467,660 74,664
02 23244l 542,324 467,660 74,6064
OusSAIEE RAIZe 20,000,000& 20,000
OuSANEE HIILRB(6150HA) & SMRSB(
3100H4) 42,610,200&+12& 511,324
Ooxtg |*7 &€ sX2a 6,000,000& 6,000
ORQol &= 2 NESE 2= Jtilet KAl
5,000,000& 5,000
WEHHAISE BHl £ &3 1,433,250 1,107,000 326,250
201 Ler23| 42,250 43,000 AT50
01 ArR22elt| 42,250 43,000 ATH0
OCusdd 228 N 2,250,000& 2,250
OUSOHM(H)AIES FHA (4 - otEr])
20,000,000 & *23| 40,000
401 Al&HIZ20HY| 1,391,000 1,064,000 327,000
01 AlEHI 1,386,000 1,059,000 327,000
OuneE H3II(8) FXe]
226,000,000& 226,000
OLE WSASHOI wWHSAHI9IHA)
200,000,000& 200,000
OLZ WSS S A WHSAH2IMHA)
240,000,000 240,000
OAIZE ol S8AISI| 0K (250H)
20,000,000& 20,000
OusSAasS F0H(20004)
60,000,000& 60,000
O M FAN(XIE THEA) K2
360,000,000 360,000
OuUSHMAIES(DIEt HIIAEE &) S
X Y KAz 200,000,000& 200,000
OC2HEE XHS F0H(600H)
30,000,000 30,000
OL=E NS SF 24010 WHSAH20IHA)
50,000,000 50,000
03 Al CHYI 5,000 5,000 0
OUSHMAIEE JHl ¥ &=
5,000,000& 5,000
Sgusst 29 X2 1,900,000 1,603,000 297,000
& 570,000
Al 1,330,000
101 el t| 1,050,421 989,123 61,298
& 315,127




EA: nESHZ
HH: HzswE 4K
R WSEE HSAIE (Cre|: ®M2)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
Al 735,29
M JIZHHIZ2EsSEs 1,050,421 989, 123 61,298
OSZUELT 2T (BY) 1,080,421
123 (BAIZH/Z52)
2,006,270& 23« 12& 578,571
= 173,572
Al 404,99
AR BEIY
80,2403 x23H x5 11,074
== 3,322
Al 7,752
RS
10,030 & *23 % * 12 A| 2Ex52Z=x150% 215,926
= 64,778
Al 151,148
ORI A
10,030& x5 7 Al 2+ 100 *200% 70,210
& 21,063
Al 49,147
-soZ22Y
10,030 x5 *x11 Al 2Fx16 L *150% 13,240
= 3,972
Al 9,268
A0 B2, II=H| 120,000,000 120,000
& 36,000
Al 84,000
~HoHGAH| 150,000 x23H x 128 41,400
< 12,420
Al 28,980
201 LBt AH| 837,579 601,877 235,702
& 251,273
Al 586,306
01 AFR2t2lHl 576,960 466,899 110,061
OUHMEIAl & R=H
3,300,000& x13CH* 12& 514,800
= 154,440
Al 360,360
OEA0|ISKIAIAE AX=
2,000,000&x12& 24,000
= 7,200
Al 16,800
O&H| Xtz 6,360
-=&| 300,000& x1CH*12& 3,600
c 1,080
Al 2,520




SH: DEHF
3 sus s8N
ol WSEE HEAE (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
g1 45,0002 *2CH* 122 1,080
= 324
Al 756
-=JIEE0I 35,0008 x4CH* 122 1,680
=S 504
Al 1,176
OAtR4 2gH| 30,000,000 30,000
< 9,000
Al 21,000
Odo?IEa HA=E 1,800,000 1,800
= 540
Al 1,260
02 S3=gHl 260,619 134,978 125,641
Oxtg sXI2eldl(310H) 260,619
-XEEHl |A R 2el
260,618,920 260,619
= 78,185
Al 182,434
301 eEtE N = 12,000 12,000 0
= 3,600
Al 8,400
11 #AIAHIXIE S 12,000 12,000 0
Ot 2d W=l 12,000,000 12,000
== 3,600
Al 8,400
Sgusas¢ XA (=3h) 160,000 190,000 230,000
= 160,000
201 fer=3| 160,000 190,000 30,000
= 160,000
2 s5=34l 160,000 190,000 30,000
Oxtgr SXel(H=H S)
146,000,000 146,000
= 146,000
Osdlg, HY A2 S 23R
14,000,000 14,000
= 14,000
HARSA JHEAIS (HEALR) 310,000 110,000 200,000
= 93,000
Al 217,000
401 A& HIX R0 310,000 110,000 200,000
= 93,000
Al 217,000
01 AlZ8| 310,000 110,000 200,000




A nSHEL
HH: (ZLE SN
ol WSEE HEAE (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBAERA WAL 310,000,000 310,000
= 93,000
Al 217,000
HASSEFHZAIAE(BIS) 22 91,000 120,500 A29,500
201 fer= 3| 85,000 81,000 4,000
02 S3=gHl 85,000 81,000 4,000
OHAQHHHZI|(BIT) ¥ HASHMHEZAIA
E1(BIS) (118 4) X2+
85,000,000 85,000
405 KHaHE SH 6,000 39,500 233,500
01 Tt =S F = 6,000 39,500 A33,500
OHASHELAIAY REAPAEII(UPS)
wH 6,000,000& 6,000
A0E HASZE £X 50,000 0 50,000
= 15,000
Al 35,000
401 AIEHIX R0 50,000 0 50,000
=S 15,000
Al 35,000
01 AlZ8| 50,000 0 50,000
OADIEHASAE &
50,000,000 50,000
< 15,000
Al 35,000
BAN2HIE2CIAAE 2 5,015 4,464 551
308 AHXIEMSOIE 5,015 4,464 551
18 SIS0t HAS A 5,015 4,464 551
OHAI I 22CIANAY =2
5,015,000& 5,015
B 2TY SHMBAAY 75 K2 680,000 0 680,000
=2 204,000
Al 476,000
401 AlEHIZL SO 680,000 0 680,000
= 204,000
Al 476,000
01 Al&H| 680,000 0 680,000
OB 22TE LEMBAAY
680,000,000& 680,000
= 204,000
Al 476,000
THE ZJIIHA 680,000 104,000 576,000
= 340,000
= 102,000
Al 238,000




A nSHEL
HH: (ZLE SN
ol WSEE HEAE (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOIH 680,000 104,000 576,000
= 340,000
== 102,000
Al 238,000
13 S I2S0He 4 A AS A 680,000 104,000 576,000
OThe EJIHA 680,000,000 680,000
= 340,000
=S 102,000
Al 238,000
OHEl0I2S7 N (HEAY) 1,340,000 0 1,340,000
< 670,000
Al 670,000
308 XXM SOl 60,000 0 60,000
= 30,000
Al 30,000
18 SIS0t HAS A 60,000 0 60,000
OO0EI0I2S7 AEHZAH25MA)
60,000,000 60,000
=S 30,000
Al 30,000
401 A2 HIRL 201 1,280,000 0 1,280,000
< 640,000
Al 640,000
01 Al&H| 1,280,000 0 1,280,000
OO0E0IES7 AFALE HXI(16H4)
1,280,000,000& 1,280,000
= 640,000
Al 640,000
THE ZDIIHA FIHAIA 26,560 5,353 21,207
308 AtXIEMSOIE 26,560 5,353 21,207
07 HAHH 2R 52 26,560 5,353 21,207
OThe I A FIOHAIR (ZHIOHE)
26,560,000 26,560
LOIES AN JHM (HEALY) 78,000 0 78,000
= 39,000
Al 39,000
308 AXIMSOIA 16,000 0 16,000
= 8,000
Al 8,000
183 S| 2SO &HAEAIE 16,000 0 16,000
OLE257 ACZEAHGMNA)
16,000,000& 16,000
== 8,000
Al 8,000




A nSHEL
HH: (ZLE SN
ol WSEE HEAE (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 AlZHIZL SO 62,000 0 62,000
= 31,000
Al 31,000
01 Al&H| 62,000 0 62,000
OLoE57 OHMAIEE SEXI(3MA)
62,000,000 62,000
=S 31,000
Al 31,000
A48 51T 2t FRUXSAE =d 1,000,000 356,000 965,000
401 AlEHIZL SO 1,000,000 356,000 965,000
01 Al&HI 1,000,000 35,000 965,000
OARAY 512 22 ZUABAIL FA
1,000,000,000& 1,000,000
0120l el HoHel 2572 FY| 100,000 150,000 250,000
401 A& HIX R0 100,000 150,000 /50,000
01 AlZH| 100,000 150,000 50,000
O0el0] - =21 - BRSPS JHl R =
K2l (4300 4) 100,000,000 100,000
SUHEXEIR(SFE 018 SEFIHE) A 1,772,000 0 1,772,000
[ 1,329,000
Al 443,000
401 AlEHIZL SO 1,772,000 0 1,772,000
= 1,329,000
Al 443,000
01 Al&HI 1,772,000 0 1,772,000
OBUEXIEIN (SEH 012 SETIHME])
fal= 1,772,000,000& 1,772,000
= 1,329,000
Al 443,000
)| otNEd xd 174,100 185,000 10,900
< 87,050
Al 87,050
401 AlEHIZL SO 174,100 185,000 10,900
& 87,080
Al 87,050
01 Al&H| 174,100 185,000 10,900
ORtat gXAIE £X
63,000,000& 63,000
= 31,500
Al 31,500
OEXc =AM EA) &K
77,000,000 77,000
[ 38,500
Al 38,500




A nSHEL
3 sus s8N
ol WSEE HEAE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oosg=cltl Xl 34,100,000 34,100
= 17,050
Al 17,050
WSESEIL Mo 2Y 3,600 3,600
201 fer= 3| 3,600 3,600
01 AtR2te|HI 3,600 3,600
OLSISHIY AR A=
100,000 9 *43] 3,600
GIX-C S&& 2 =& 5,000 5,000 0
201 er23 | 5,000 5,000
01 At2telt] 5,000 5,000
OG-t S=& A Alg 24|
5,000,000& 5,000
SAEH =29 37,400 0 37,400
201 er2 3| 37,400 0 37,400
01 AtR2te|HI 25,400 0 25,400
OHAIEE 28 4223 7Y S
5,000,000& 5,000
ogxtz Xs(F=21, 32183871, 23I1+#
s) 1,150,000& «12& 13,800
Ozelt® ==+=2(223HI, s2J1 8)
550,000 * 12 6,600
02 S3=gHl 12,000 0 12,000
O3323(d)|, aote=t, S)
750,000 * 122 9,000
OHAIEE AIE3H | 2=
3,000,000& 3,000
BAIZRRER 248 500 0 500
201 Ler=23 | 500 0 500
01 AtR2te|Hl 500 0 500
STHAl BHAIZIRER] 22 BH &
100,000 5% 500
HE=2X WEBA =Y =4 500,000 0 500,000
401 Al HIZL R 0HbI 500,000 0 500,000
01 Al&HI 500,000 0 500,000
OHZEZ=RX UEHA =S =4
500,000,000 500,000
SYH2ER & =XE =4 50,000 0 50,000
401 Al HIZ 2018 50,000 0 50,000
01 Al&H| 50,000 0 50,000
OsgddREd &€ =g 24
50,000,000 50,000
o2 wsSdl X 472,000 0 472,000
201 fet=3| 2,000 0 2,000
01 AtR2t2|HI 2,000 0 2,000




A nSHEL
3 sus s8N
ol WEEE HEA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o024l usSHl K& At EL2H]
2,000,000& 2,000
207 ARl 470,000 470,000
02 MAHHEH] 470,000 470,000
ONEd WSHl X3 At AIAE 2=
470,000,000& 470,000
WSOHNEHE A5 701,458 713,586 A12,128
= 5,610
= 6,545
Al 689,303
= SeeaH esgel|2E 243 659, 160 694,140 A34,980
308 AtXIEHMSOIE 659, 160 694,140 A\34,980
07 XA EE2 659,160 694,140 34,980
O%E #zgol Xg
659, 160,000 659,160
AtS A2 (S8 E ) 5,000 5,000
305 Hia =S 5,000 5,000
01 =S 5,000 5,000
OusSAE2e AL Hias
5,000,000& 5,000
SOHE ALY XIE 15,602 10,450 5,152
307 @I2to1 & 15,602 10,450 5,152
02 QB AN E R 15,602 10,450 5,182
O2detd ALEXIE 10,162,000& 10,162
ORH2EA3 A& HSt
3,000,000& 3,000
ORY2EtE II=H| K& (&)
61,0003 *40H 2,440
WSO W= 1,696 2,696 21,000
201 fer= 3| 1,696 2,696 21,000
01 At 2|l 1,696 2,69 21,000
OusSotd 23 g2= A
1,000,000 1,000
O3JI¥8)I| gtz
58,0002 1CH =12 696
VE2HA 26 NS K2 18,700 0 18,700
= 5,610
= 6,545
Al 6.545
301 LEtE NS 18,700 0 18,700
= 5,610
& 6,545
Al 6,545
14 JIEt2 8= 18,700 0 18,700
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Hlw
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650
AB50

B0
B0

MEE
Ofl &k2h

27,160
13,000
13,000
9,000
9,000

5,160
5,160

Ofl &F2H

12,350
12,350
12,350
9,000
9,000
9,000
5,100
5,100

27,170

- SRA(E) - HIRAY

- ESS

S LRE-L

12,350,000
9,000,000&

2P0 (25H)

01 AtR2telbl
01 =LA LI

202 04|

KJ
KF
oF
ol

720
720

10,000,000
10,000,000
10,000,000
10,000,000
10,000,000

5,100

720

720

720
10,000,000
10,000,000
10,000,000
10,000,000
10,000,000
10,000,000

720,000
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10,000,000,000&
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